BID SUMMARY



BID OPENING



This document is a summary of bids received for the subject project and are provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

PROJECT TITLE: Annual Overlay/Rehabilitation 2016-17 Phase 1

PROJECT NO.: 2017.0050 BID NO.: 16-17.024

TIME: 3:00 p.m.

LOCATION: City Clerk's Office

DATE: Monday, June 26, 2017

ENGINEER'S ESTIMATE

Date Approved: 6/21/2017
Prepared by: Ingrid Lin

DeSilva Gates Construction LP 11555 Dublin Boulevard Dublin, CA 94568

Phone: (925) 829-9220

					Fax: (925) 803-4263	
ITEM NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST
1	Mobilization and General Conditions per Section 9-3.4	1 LS	\$220,000.00	\$220,000.00	\$300,000.00	\$300,000.00
2	Traffic and Pedestrian Control, Temp. Signage per Section 315-2, 600, and 601.	1 LS	\$170,000.00	\$170,000.00	\$259,000.00	\$259,000.00
3	Potholing per Section 306-0	4 EA	\$1,000.00	\$4,000.00	\$1,500.00	\$6,000.00
4	Install Curb and Gutter per City Std Plan 100 and Section 303-5	918 LF	\$80.00	\$73,440.00	\$70.00	\$64,260.00
5	Concrete Sidewalk per City Standard Plan 100 and Section 303-5	223 SF	\$20.00	\$4,460.00	\$15.00	\$3,345.00
6	Concrete Driveway per City Standard Plan 102 and Section 303-5	135 SF	\$30.00	\$4,050.00	\$25.00	\$3,375.00
7	Install AC Tie-in per City Std Plan 128 and Section 302-5	1820 SF	\$20.00	\$36,400.00	\$10.00	\$18,200.00
8	Install Wheelchair Curb Cut Ramp per City Std Plan 106A/106B and Section 303-5	3986 SF	\$20.00	\$79,720.00	\$25.00	\$99,650.00
9	Relocate Existing Street Sign Panels per City Std Plan 136 and Section 315- 1	8 EA	\$200.00	\$1,600.00	\$300.00	\$2,400.00
10	Adjust City SDMH Frame and Covers to Grade per City Standard Plan 222 and Section 301-1.6	5 EA	\$2,000.00	\$10,000.00	\$2,500.00	\$12,500.00
11	Adjust City SSMH Frame and Cover to Grade per City Std Plan 222 and Section 301-1.6	25 EA	\$2,000.00	\$50,000.00	\$2,500.00	\$62,500.00







This document is a summary of bids received for the subject project and are provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

PROJECT TITLE: Annual Overlay/Rehabilitation 2016-17 Phase 1

PROJECT NO.: 2017.0050 BID NO.: 16-17.024

U	۲٤	NIN	G

DATE: Monday, June 26, 2017

TIME: 3:00 p.m.

LOCATION: City Clerk's Office

ENGINEER'S ESTIMATE

Date Approved: 6/21/2017 Prepared by:

Ingrid Lin

DeSilva Gates Construction LP 11555 Dublin Boulevard Dublin, CA 94568

Phone: (925) 829-9220

	-				Fax: (925) 803-4263	
ITEM NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST
12	Replace SSCO w/ Type A Manhole per City Std Plan 214 and Section 301-1.6	3 EA	\$11,000.00	\$33,000.00	\$10,000.00	\$30,000.00
13	Adjust City Monuments per Section 301-1.6	9 EA	\$1,500.00	\$13,500.00	\$2,000.00	\$18,000.00
14	Remove and Rebuild City Monument per City Standard Plan Per Section 309-3	1 EA	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00
15	Adjust EBMUD Water Valve lids to Grade per Section 301-1.6	34 EA	\$1,500.00	\$51,000.00	\$1,200.00	\$40,800.00
16	Not Used.		\$0.00	\$0.00	\$0.00	\$0.00
17	AC Milling and Offhaul (Final Qty) per Section 302-1	2,618 TN	\$40.00	\$104,720.00	\$45.00	\$117,810.00
18	AC Milling and Offhaul w/ Petromat (Final Qty) per Section 302-1	7,111 TN	\$42.00	\$298,662.00	\$55.00	\$391,105.00
19	Remove and Offhaul Base Material per Section 300-2	280 TN	\$50.00	\$14,000.00	\$80.00	\$22,400.00
20	Compact Existing Street Base per Section 301-2.3	31,003 SY	\$3.00	\$93,009.00	\$2.00	\$62,006.00
21	Aggregate Base per Section 301-2	280 TN	\$60.00	\$16,800.00	\$50.00	\$14,000.00
22	Install Geogrid per Section 300-10	708 SY	\$6.00	\$4,248.00	\$2.00	\$1,416.00
23	AC Paving per Section 302-5	8,840 TN	\$100.00	\$884,000.00	\$120.00	\$1,060,800.00
24	RAC Paving per Section 302-9	889 TN	\$125.00	\$111,125.00	\$130.00	\$115,570.00
25	AC Digout Repairs per Section 302-3	344 TN	\$220.00	\$75,680.00	\$325.00	\$111,800.00
26	Install Pavement Reinforcement Mesh per Section 302-14	22,967 SY	\$5.00	\$114,835.00	\$5.00	\$114,835.00
27	Replace Loop Detectors per Section 700 and 701	11 EA	\$500.00	\$5,500.00	\$550.00	\$6,050.00

BID SUMMARY





This document is a summary of bids received for the subject project and are provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

PROJECT TITLE: Annual Overlay/Rehabilitation 2016-17 Phase 1

PROJECT NO.: 2017.0050 BID NO.: 16-17.024

BID O	PENING	ENGINEER'S ESTIMATE		DeSilva Gates Construction LP			
DATE: Monday, June 26, 2017			Date Approved: 6/21/2017		11555 Dublin Boulevard		
	TIME: 3:00 p.m.		Prepared by:	Ingrid Lin	Dublin, CA 9456	38°	
	LOCATION: City Clerk's Office				Phone: (925) 82	29-9220	
				· · · · · · · · · · · · · · · · · · ·	Fax: (925) 803-	4263	
ITEM							
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	
28	Thermoplastic Stripes, Pavement Markings, and Curb Painting per Section 314	1 LS	\$65,000.00	\$65,000.00	\$30,000.00	\$30,000.00	
29	Standard 6'-6" By 6'-8" Rubber Speed Cushion per City Std Plan 131 A/B and Section 314-6	22 EA	\$1,800.00	\$39,600.00	\$2,000.00	\$44,000.00	
30	Standard 10'-6" By 6'-8" Rubber Speed Cushion City Std Plan 131 A/B and Section 316	2 EA	\$2,500.00	\$5,000.00	\$3,000.00	\$6,000.00	
31	MUTCD Street Signage (W13-1 "15MPH" / W17-1 "Speed Bump) per City Std Plan 131 A/B and 136, and Section 315	4 EA	\$300.00	\$1,200.00	\$400.00	\$1,600.00	
32	Concrete Apron per City Standard Plan 114 and Section 303-5	176 SF	\$20.00	\$3,520.00	\$40.00	\$7,040.00	
33	Install Detectable Warning Surface per City Std Plan 106D	5 EA	\$500.00	\$2,500.00	\$1,000.00	\$5,000.00	
34	Remove Existing SSCO and Pipe Through per Section 306-3, 306-4, and 306-7.8	1 EA	\$27,000.00	\$27,000.00	\$12,000.00	\$12,000.00	
	TOTAL BASE BID			\$2,620,569.00		\$3,048,462.00	
	REQUIRED DOCUMENTATION:		Addendum #1 Acknowledgement		Addendum #1 Received		
			Bid Bond		Bid Bond Received		
			San Leandro Local Business		N/A		
				25 % Participation		N/A	
				Good Faith Effort		Received & Acceptable	







This document is a summary of bids received for the subject project and are provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

PROJECT TITLE: Annual Overlay/Rehabilitation 2016-17 Phase 1

PROJECT NO.: 2017.0050 BID NO.: 16-17.024

BID OPENING			ENGINEER'S	ESTIMATE	DeSilva Gates Construction LP	
	DATE: Monday, June 26, 2017		Date Approved:	6/21/2017	11555 Dublin Bo	oulevard
TIME: 3:00 p.m.			Prepared by:	Ingrid Lin	Dublin, CA 94568	
	LOCATION: City Clerk's Office				Phone: (925) 8	29-9220 ·
			Fax: (925) 803-4263		4263	
ITEM			,			
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST
	SUBCONTRACTORS:				TDW Construc Sposeto Engin St. Francis Ele Pacific Northw Striping Graph	eering, Inc. ctric est Oil
		SECURITIES:			10% Bid Bond	
		NOTES:			** Addendum #	1 Received

Reviewed by:

Ingrid Lin, Project Manager Reviewed by:

sakwe, Senior Engineer